
 1

 1.1  1

 1.2   5

1.3  5

 1.4   5

 2

 2.1   6 

 2.2         6

  2.2.1  (Markowiz Model) 6

  2.2.2  (Time Series Analysis)   10

  2.2.3  (Unit Root Test)   10

 2.2.4 (Stochastic Frontier)   12

 2.3     14

2.4     18

 3      

 3.1   21 

(Ti

 

2

2.1

 (Time Serie

  

1.3

1.4

(Ma kow z M d

1.11.1

1   

 

 

4.

2.2.2 33

( htocStoc

ot T

stic Ft o intier) 21

2

2 444

 1

118

  2.2.4

2.2.3

 (Stoch

oot T

astic Fronntier)   12

 

2

2.4 18



 3.2    21 

  3.2.1   22 

 3.3    23

  3.3.1  (Unit Root Test)  23

  3.3.2   24

  3.3.3

   24

  3.3.4   25

 4  50

 4.1  (B-LTF)  26 

 4.2  (SCBSET)  28

 4.3 50 (KSET50)  32

4.4 50 (KSET50LTF)  36

 4.5 50 (SET50 Index)  41

 5

 5.1 50   44

  5.1.1 50  45

  5.1.2   45

 5.2  (Unit Root Test)  47

 5.3   49

 5.4   5

 5.5   56

 5.6    59

 6

 6.1    61 

 6.2    65 

 

Test) 

2

3

 

) 

3.3.2

 

 

5

5.1 

.1.1

  

4.4

4.5

5

4

4.24

.

2

4

 

-LT

 50

B-LTF

 (SC

SET50) 

KSET50L

50 Index) 

0)

 

3.3

 (Un Roo

5 5

5

66

5

9

 5.3

5.4

 4

 5

9

1

5 5

6

5

9



     67 

50        71 

   86

   97

  107

    109

500

    



 1.1     4

 5.1 50     46

 5.2 50     49

5.3     51

 5.4     52

 5.5

 B-LTF      53

5.6

 SCBSET           54

 5.7

 KSET50           55

 5.8

      KSET50LTF           56

 5.9 

 B-LTF            57

 5.10

 SCBSET          58

 5.11

 KSET50          58

5.12

    KSET50LTF          59

 5.13    60 

    

5.2

5

5

7

 KSET50LTF      

5.1

5

  

  

 

5.7

 

 

    

 SCBSET      

50     K

T50LTF  

 

.55 5

   

   

50

  

 

105. 0

CBCS E  885

58

 1

T50

5.10

SCBSET        58

58

1



1.1 . .2545-2551   2

1.2    4

2.2.1    9

2.2.4  output  Stochastic Frontier       13

4.1.1  (B-LTF)       27

4.1.2  (B-LTF)      27

4.2.1  (SCBSET)       30

4.2.2

 (SCBSET)       31 

4.3.1 50 (KSET50)       34

4.3.2 50 (KSET50)       35

4.4.1 50  (KSET50LTF)       39

4.4.2 50  (KSET50LTF)  40

25

2.1

.2

4.

4 F)

4. T)

2

 

T50

51

2

2.2

2   

  

  

4   

4

.1

0LT

T

50) 

55

 (K

(K

SE

KSET

LT

CB

(B (B-LLT.21 2

put  Stochastic 

0 (KSE

 out

. 25445-


